 Draw a Number » On TOC 4 explain how

Lline from 5 to -5 you would model -3
+5 with 2 color

counters
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REMEMBER:

Negative numbers are to the left.




gers with the number line
TOC 5




A. Start at zero

B. Move * spaces ﬂo\h{/ to get to the first number.

C. rFrom there\move o spaces&%;@

D. My final answer is: — |

START

20 19 48 A7 46151443 42 4140 9 & 7 6 5 4 3 -2 - +1 +2 43+ 45 46 4T 45 +9 +10 +11 +12 #13+14 +15 415 +17 +18 +19 +20
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G4

A.  Start at zero
B. Move % spaces fg gﬁto get to the first number.
C. Fromthere, move __/ spaces (@h“[’
D. My final answer Is:
START
- ¥ +

20 19 48 47 4615 144342 11409 8 76 5 43 -2 - #1 42 43+ 45 4B 4T 48 43 +10 #1112 113414 #15 416 +17 +18 +19 +20
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3410

A. Start at zero
B. Move g spaces M;@ to get to the first number.
C. From there, move louspaces fﬁéi/
D. My final answer is: — )?7
START
- 4 +

20 19 18 47 1615 1413 42 41 40 9 & 7 6 5 4 -3 -2 A +1 +2 #3 A +5 6 7 45 +8 10 #1112 #1353 +14 +15 H16 417 +15 419 +20
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(8 (-2)+(-4) =

A. Start at zero
B. Move (0 spacesﬁ to get to the first number.
C. From there, move Z spaces L
D. From there, move spaces
E. My final answer is:
START
- ¥ +-
0

+1 42 43+ 45 46 +7 48 +9 +10 +11 H12 #3414 H15 #1E6 +1T7 +18 +19 +20
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« Model 2 with the number line
and 2 with counters.

* Write a few senfences
describing how to solve the
problem 5 + (-4) by modeling
with the number line.




